ﬂh Subtraction With Tape Diagram Name:
Solve each problem using a tape diagram. Answers

1) At the zoo acage had 60 snakes. If 42 were hiding, how many snakes were not hiding?

2.
3.
2) A chef has 69 cherries. He sets aside 27 of them to make a pie. How many cherries would
he still have?
4,
5.
3) Tom owned 51 video games for his Playstation and Xbox. 23 of the games were for Xbox. 6.
How many games does Tom have for playstation?
7.

4) A store had 42 sodas on Monday. If they sold 28 of them on Tuesday, how many would
they have left on Wednesday?

5) Isabel could send 75 text messages a day. If she sent 43, how many text messages does she
have left she can send?

6) While playing agame Frank had 30 lives. He lost 14 lives on a hard level. How many lives
does he have | eft?

7) Haley had 82 pieces of candy. 37 pieces are chocolate and the rest are sugary. How many
pieces of candy does Haley have that are sugary?
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Subtraction With Tape Diagram Name:

Answer Key

Solve each problem using a tape diagram.

1)

2)

3)

4)

5)

6)

7)

www.CommonCoreSheets.com

At the zoo a cage had 60 snakes. If 42 were hiding, how many snakes were not hiding?

60
AN

42 | ?

A chef has 69 cherries. He sets aside 27 of them to make a pie. How many cherries would
he still have?

69
N\

27 | ?

Tom owned 51 video games for his Playstation and Xbox. 23 of the games were for Xbox.
How many games does Tom have for playstation?

51
VAN

23 | ?

A store had 42 sodas on Monday. If they sold 28 of them on Tuesday, how many would
they have left on Wednesday?

42
A\

28 | ?

Isabel could send 75 text messages aday. If she sent 43, how many text messages does she
have left she can send?

75
A\

43 | ?

While playing a game Frank had 30 lives. Helost 14 lives on a hard level. How many lives
does he have | eft?

30
VAN

14 | ?

Haley had 82 pieces of candy. 37 pieces are chocolate and the rest are sugary. How many
pieces of candy does Haley have that are sugary?

82
A\

37 | ?

Answers

18

42

28

14

32

16

45
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